$.05 0.035 0.6
%045 1
o —0.5
.04 0.03 '
@J: ]
%035 1 —0.4
“0.03 0.025 -
0.025 EIL BT
0.02F 0.02 ] e
0.015F=§ 1 . ¢ -
L, 1 : : : : : : 00154 ,°
R 1
0,005 ++ieseerereiererensfonee - - S - e
o : : 0.01
O J.O.:I 11 : 1 1 1 1 + 11 11 I 11 1 1 11 1 I 11 11 I 11 11 I 11 I. IIIIIIIIIIIIIIIIIIIIIIIIIII
£ : | - 0.1 022 03 04 05 0.6
YLl.05F - ——f—mie-  —= M_mkFi Iowpt
r +1H —e— DQM_mkFit_TT retram -lowpt
r —+— DQM_mkFit_TTold-lowpt
1:— """"""" ‘| —— DQM_mkFit_TT_NEWdefault_specPLess3-lowpt
005 CT T T TIET] x1(

01 02 03 04 05 06 0.7
Efficiency vs. cut on dz(PV)
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